PCN — Process Change Notification

§taoglas

Change: OMB.8912.03F21
Date: 2018/03/19
Author Bonnie Chen

Affected Products

Model#

Part Number

Changes

824~960MHz and 1710~2170MHz 3dBi
Omni Antenna,with N Type Female
Connector, U-Bolt

OMB.8912.03F21

=

pow

Amend total length dimension.
Modify Dimensions and
Tolerances.

Modify U Bolt Dimensions.
Amend P/N of BOM.

Type of Change

[ ] Hardware Modification
[ ] Production Process Advance

[X] Others —Amend total length dimension.

Description of Change

1. Amend total length dimension from 527 + 25 to 298 + 15 mm
2. Modify Dimensions and Tolerances. (26+2.5->26+6, 45+5->35+5, 54+2.5->54+5, 1545 -

>14.75+2.5)
3. Modify U Bolt Dimensions.
4. Amend P/N of BOM.

5. The above changes do not effect antenna per attach test data.

Schedule

2018, March, Taoglas will provide new design into production.

Forecast Estimated Transition Date

March /2018




g taoglas

Illustration of Change

Old Design
6 5 | 4 | 3 | 2 | 1
IS0 NIVEDW—12-8-0295 | <Release> REV [ZONE DESCRIPTION ENG APPROVED | ISSUED DATE
& ALL | Initial Design Jason Joanna 2012/06/05
ABS Cover
G Glass Fiber G
Aluminum
F —dj BR6*2S @/m F
i I } |
! ! Bracket
El w | | o 2
+ o
™~ + *
o Qik Go4+25 RF /5%3 )
ip] | R ot — >
. | R30
o | | g 7 & #
i o]
| +'I_.
| | c
I g =
D || JfB 2l o | D
| 2 | 5
C
J ’ } | 505
@) | 54zes . |
n _
70%5 =
S ] N Type (F)
C ] C
12 I
o
& IS=—
™ 4 -
©; |
Name P/N Material Finish  |QTY }
1 | OMB.8912 Antenna | 001212C000021A | Glass Fiber White 1 ; @8,4202
2 | Cover 000111K000021A | ABS Silver 1 } p13.7*02
3 | Holder 000311K000021A | Aluminum Silver 1 ! S5/8"—24UNEF —2A
4 | N Type(F) 201211K000021A Brass Ni Plated 1 = I
5 | M6 U Type Screw 000411K000021A Stainless Steel Silver 1 DETAIL :°C*
6 | M6 Washer 000411K010021A | Stainless Steel | Silver 1 sCALE 14
7 | M6 Nut 000411K020021A Stainless Steel Silver 1
UNLESS OTHERWISE DATE: MAT'L: REY
i, 2012/06/05 @ taog '-85
wes il UNIT:  mm FINISH: antenna solullonsxw - .
e XX 1D This drawing and its inherent design concepts are property of Taoglas. Nok to
% £30 XXXt 01 THIRD ANGLE g SEALE 1/ 4 be copied or given to third parties without the written consent of Taoglas,
ity © - TITLE.  1824~960MHz and 1710~2170MHz 2.5~3.50/B
APPROVED BY: CHECKED BY: | DRAWN BY: |CUSTOMERS SIGNATURE /DATE Omni Antenna, with N Type (F>
Joanna|  Wayne| Jason PART NO. :oMB.8912.03F 21
6 | 2 \ < | 3 | P | 1




gtaoglas

X.+ 0.3 XXX+ 0.05

=

PROJECTION

SCALE:

1/4

New Design
6 5 | 4 | 3 | 2 | 1
ISO_NO: EDW-12-6-0285 - REV [ZONE DESCRIPTION ENG |APPROVED] ISSUED DATE
& > o .
e A\ |ALL [Initial Design Jason | Joanna [2012/06/05
A\ [ ALL |Songe Jetens Loogh ERTE-¢02 | Bonnie | Paul _|2018/03/16
3D View
326p A
1
'-._® ’_ M6 U—Bolt A
§ !" @ 92432
D |
[ep]
= |
H Il T
ol 1 || %Il @ I
il | 2 _l%_HP(_ |
1 — | ﬁ
‘ﬁr Q @ Mex ‘
<1 p
[ 5435 ~ ol |
7045 : &= |
= _ - X |
Detail A Detail B
Scale:2:1 Scale:2:1
A
Name P/N Material Finish [QTY
1 |OMB.8912 Antenna |001212C000021A| Glass Fiber White | 1
2 |Cover 000111K000021A ABS Silver 1
3 | Bracket 000311K000021A Aluminum Silver 1
Notes: 4 [N Type(P) 201211K000021A]  Brass | Ni Plated | 1
1. Al material must be RoHS compliant. 5 (M6 U Bolt 000412B000021A | Stainless Steel Silver 2
6 (M6 Washer 000411K010021A | Stainless Steel | Silver 4
7 (M6 Nut 000411K020021A | Stainless Steel | Silver 4
UNLESS GTHERWISE [ DATE: 2012/06/05] MAT'L: B taoglas REV
TOLERANCES ON: _ TUNIT:  mm  |FINISH: sl antenna SOLULIONS o cere
XX.: 0.5 XXt 0.1 |THRD ANGLE ot vt o et o e o RO B

FEFRGED B | CHECKED Y| ORAWN BY:| CUSTONERS SIGNATURE / DATE| | L * 8249600k L TR i
Joanna | Wayne | Jason PART NO. : OMB.8912.03F21
6 | 5 | 4 | 3 ] 2 | 1




